1
DO
19 4
DO
2.
2-1
e (WQC-24( KK )
o 0.5m
(11.82km).. @ (1363km)
ao%km:«: (w23m - 00 %
B P S
— PH
o (972km) 2
(9.06!«1’1)'.
e (843km)
[ ]
(7:59km) / 2
\:_.
L 1 .
A L
B 1.0psu
"~ (355km)
P -1
-
DO
-1
-1
2-2. -2
2006 11 3 11 10
-3 2006 11 17 11
24
-2
-1
C )
2006 (9.72km)
11 3 11 10 (8.43km)
2006 (12.3km)
11 17 11 24 (10.96km)
2007 (9.72km)
33 45 (8.43km)
2007 (12.3km)
4 17 4 30 (11.82km)

1.0psu

1.0psu

9.72km

10.96km

31

22

22 4 27

DO
DO

8.43km

DO

2007

1.0psu



salinity(psu)

3 w4 ums5  we 17 18 119
-2
2006/11/3 11/10
2 —
S Y ppppeey

11 19 1 2

11 18

11 23

salinity(psu)

salinity(psu)

4/22 12.00 4/271300

11 17 11 21 11 22 4 17 4 19 4 21 4 23 4 25
-3 -5
2006711717 11/24 2007/4/17 4/30
-2 DO
DO DO
DO DO
DO
DO
DO -6 DO
DO DO
DO
-2 DO DO
06.11.17-11.24 07.04.17-04.30)
DO 9.34 9.85 8.92 9.21 9.79 8.69
DO 24% 65% 0% 47% 69% 4%
06.11.17-11.24 07.04.17-04.30) 3.
3-1.
DO 9.46 10.94 8.71 9.29 9.87 8.71
DO 47% 90% 10% 47% 67% 3%
(a)Do - -3 .
100% —
(07.04.17-04.30) e i O
go% [ | = (06.11.17-11.24)
€ " =-0.0971x + 1.9189
60% - -+ . y. 32:052279
o 40% |
° €))
206
O
0% s s : s
(b)1|340 15 16 17 o8 19 20 21 22 Vix Vi
100% (9)(10)
(07.04.17-04.30) e e
80% —‘ - (06.1117-11.24) | :
@ 00
40% SDO
o
= 208 (11) (13)
o% DO
-20% 1)

salinity (psu)



-3
6Bu éBuuéBuw éH BH-2) dp 0Bz, aB -
g _0BlH-2 & 0Br, 0Br, () Bw Buw Baw M gB(H-7) d 0Br, 0B

Bt * e Y Pz...(2)
a & a X P X @( P 82 P a & oz 2 aZ X p op
chI+a(uBcI)+a(chI)=O(DXGBCI}@(DZ@BCI) @) aBD —(uBIZ)+ ( Blj=a(DXaBD}a[DZm}r%O---@)
ot X oz X ox ) oz oz X ox\ " ox ) oz oz
6Bu oBw o
8x o =0..6) H=z+p/pg+zb 6) p=p +000745%) (1)  S(%0)=0.03+1.805cl (8)

Z
R OOPID) g v eRCLER) Soo = k; (D"~ D)-k,D ... (11)
poul ey D, = D,,-exp(-30R) S0 = ~kiD - (12)
Spo = —k,D -k,/Az ...(13)
u (m/s) w (m/s) p Vy Vg cl (a/l)
D, D, B D Do(mg/l) k; (Uday) =1.0 k,
(1/day)(=3.5) ks (9/m?day)(=5.0) D" (= 20 8.84mg/l)
3-2. -7 DO 4,
13.5km Om 3.5km -4
10000m -9
DO
Case2 Cased
-8 DO Casel Case3 Caseb
DO
DO 2
DO
DO
3.3km 35km 39km 4.4km 46km 52km 55km 6.0km 7.7km 10km (a)DO( )
‘g . 35 2004 11 19
- = 3r
) P25 —
S5 2r ——
B15 i T

5 os | e

) i 0

®

m 3.3km 35km 3.9km 4.4km 4.6km 52km 55km 6.0km 7.7km 10km (b) ( )
¥ ! 40 T T T T T T T T T
ssiintryipeu) Elocd wide ?30 L
\‘9&25
.g 20
515
10
.l
@ ’
£ &
[} ||:.|:| T o LM Ao W P TIT eI [T e Lunnn _4
(b) e Case
[ | Case0
s o o n e Casel
P imgs L) flood wida Casez
D0 Case3
Case4
-7 Case5 DO D0=0.5mg/1




7.0psu
DO
DO
DO
-10
DO
DO  0.0mg/l
DO
DO 20 DO
8.84mg/1 DO
DO
DO
DO
5.
-11
DO
2.0m%s  4.0m%s
-5
0.7m%s 1 1
3.26%
DO
DO

33%m 35%m 3%m 44m 46km 52m 55m  60km  77km  10km 0
35 T T T T T T
3t ~i-Case()
=25 —+— Casel
E’ 2r —o—Case2)
ol15 —— Case3
a
1r —%— Case
05 —x— Caseh|
0
3%m 3%m 3%m 44m 46m 52m 55%m 60km  77/&m  10km o
35 T T T T T T
3r ~i- Case()
=257 Case4 —+—Caxl
g 2 F ——( M
ol5 1 —— Case3
[a] 1t
N —%— m
Og i Case2 —— Casehy
-9
33km  35km  39%m  44km  46km  52km  55km  60km  7.7km 10km
45 T T T T T T
s
35 Do
Bas | —
815 | ——bo
1r —s—DO
05 x
0 . . . . . .
33km  35km  3%km  44km  46km 52km  55km  60km  7.7km  10km
45 T T T T T T
s
35 DO
S.3r
gz.g r =
815 | ——Do
1+ —e—DO
05 x
0
-10
33km 35km 39km 4.4km  46km 52km 55km  6.0km 7.7km  10km o ( )
10 T T T T T T T T
- =03t/s
: <+ 4t/s
7 —— =0.7t/s
_ 2t/s
é z —A— =2.0t/s
o]
a4 — =4.0t/s
3
2
1 =2.0t/s
0
=4.0t/s
33km  35km  39km 4.4km  46km  52km  55km  6.0km  7.7km  10km o ()
10
9 —— =0.3t/s
3 <+ atls —— =0.7t/s
E g at —— =20t/s
S
g4 — =4.0t/s
3
2
1 =2.0t/s
0 . . . . . n T e
=4.0t/s
-11
-5
(m*) 1.86E+06
0.7t/s (day) 30.70
40t/s (day) 538
1 07t/s ) () 3.26
1 @ot/s ) () 18.60

D

2006




